INSTRUCTIONS FOR:
ADJUSTABLE MITRE SAW STAND
MODEL NO: RS16

Thank you for purchasing a Sealey product. Manufactured to a high standard this product will, if used according to these instructions and
properly maintained, give you years of trouble free performance.

IMPORTANT: PLEASE READ THESE INSTRUCTIONS CAREFULLY. NOTE THE SAFE OPERATIONAL REQUIREMENTS, WARNINGS & CAUTIONS. USE THE
A PRODUCT CORRECTLY AND WITH CARE FOR THE PURPOSE FOR WHICH IT IS INTENDED. FAILURE TO DO SO MAY CAUSE DAMAGE AND/OR
=¥—= PERSONAL INJURY AND WILL INVALIDATE THE WARRANTY. KEEP THESE INSTRUCTIONS SAFE FOR FUTURE USE.

1. SAFETY

v Select a work area suitable for the saw table and keep the area clean, tidy and free from unrelated materials. Ensure there is adequate
lighting.

4 Stand the saw table on a stable floor strong enough to take the weight of the saw and the saw table.

4 Maintain the table in good condition, check moving parts alignment regularly.

4 Replace or repair damaged parts. Use recommended parts only, unauthorised parts may be dangerous and will invalidate the warranty.
v

v

v

Remove ill fitting clothing, remove ties, watches, rings and other loose jewellery and contain long hair.
Maintain correct balance and footing. Ensure the floor is not slippery and wear non-slip shoes.
Keep children and unauthorised persons away from the work area.

2. INTRODUCTION

Hard wearing, height adjustable wood-composite top, suitable for sawing, planing and sanding. Extending twin rollers aid material handling and
increase productivity making it ideal for use with mitre saws and table saws.

3. SPECIFICATION

ModelNo: . ................... RS16

Size Folded (WxDxH):. .. ........ 640x130x1010mm
Board Size (WxDXT):. . .......... 585x480x18mm
Roller Height Adjustment: . ... .. .. 0-450mm

Roller Extension:. . ............. 690-1460mm
Height Adjustment: ............. 690-880mm

4. ASSEMBLY

4.1. Fold out legs (1), fit extension tubes (8) and raise them to a comfortable working height using pins (2) and knobs (3).

4.2. Place @8x18x21 spacer into the top of each of the extension tubes (8). Use a thin strip of paper underneath it to prevent the spacer from
falling down inside the tube (see fig.2).

4.2. Attach Latch plate to the outside of each of the extension tubes. Use M8x40 bolt through the lower hole.The M8x45 bolt plus the 8x12x3
spacer goes through the upper hole. The table will pivot on the spacers (see fig.3). (Top bolt is shown in fig.3 to show its location once the
table is fitted).

fig.1 fig.2

fig.3

(Rs16 [lIssue: 1 - 14/03/14)




4.3. Get an assistant to take the weight of the table top (fig.1.4) whilst bolting it on. The Table top brackets go to the outside of the latches see
fig.4. Use M8x45 bolt, lock nut and 8x12x3 spacer through the top hole of the latch and extension tubes (8). Refer to fig.4 to note the correct
orientation of the Latch and Tilt release. Ensure that the Tilt mechanism engages in the latch. If it does not, loosen the bolts through the
latch and the latch stop, and adjust until the Tilt lock releases are working smoothly each side.

4.4. Fit the horizontal bar, see fig.1.5, using flat head M8x65 screws.

4.5. Fit'T' piece extension pipes, secure with knobs screwed through the horizontal bar, see fig1.5 &1.6. Fit the rollers, see fig.1.7. Fit their
height adjusting knobs.

Environmental Protection.

Recycle unwanted materials instead of disposing of them as
waste. All tools, accessories and packaging should be sorted,
taken to a recycle centre and disposed of in a manner which
is compatible with the environment.

NOTE: It is our policy to continually improve products and as such we reserve the right to alter data, specifications and component parts without prior notice.
IMPORTANT: No liability is accepted for incorrect use of this product.

WARRANTY: Guarantee is 12 months from purchase date, proof of which will be required for any claim.

INFORMATION: For a copy of our latest catalogue and promotions call us on 01284 757525 and leave your full name and address, including postcode.

Sole UK Distributor, Sealey Group,

- %
Kompson Way, Suffuk Busness Park, &R 01284 757500 E}b www.sealey.co.uk
Bury St. Edmunds, Suffolk,

P32 7AR 01284 703534 [oa] sales@sealey.co.uk
Original Language Version (RS16 [ Issue: 1- 14/03/14)




